Board Action Summary

May 25, 2011 Regular Board Meeting

All board members were present for this meeting.

Administrators Present: Mr. Miles, Mr. Stoudt, Dr. Pulkowski, Mr. Brigel, Mr. Brubaker, Mr. Porch, Dr. Zehner, Mr. Santoro, Mrs. Matias, Mr. Suski, Mrs. Greth

Human Resources

Resolutions EP-177-242 and 243-257 and 259 - 334 were approved unanimously.

Resolution EP-243 was approved by a vote of 6 yeas; 3 nays, with Mrs. Leonti, Mrs. McCree and Mr. Storch casting the nay votes.

Resolutions SSP-150 – 201 were approved unanimously.

Curriculum and Technology

Resolutions CUR-61 – 64, and 66-73 were approved unanimously.

Resolution CUR-65 was approved by a vote of 8 yeas; 0 nays; 1 abstention, with Mrs. Leonti abstaining.

Finance and Legal

Resolutions FIN-120 – 150 and 152 – 155 were approved unanimously.

Resoution FIN-151 was approved by a vote of 8 yeas; 1 nay, with Mr. Stamm casting the nay vote.

Facilities and Security

Resolution FAC-36 and 38 were approved unanimously.

Resolution FAC-37 was approved by a vote of 7 yeas; 2 nays, with Mr. Storch and Ms. Stroman casting the nay votes.

Student Services

Resolutions SS-55 – 58 and 61 - 68 were approved unanimously.

Resolution SS-60 was approved by a vote of 6 yeas; 3 nays; 1 abstention, with Mr. Storch, Mr. Stamm, and Mr. Santoro casting the nay votes, and Mrs. McCree abstaining.

Community Relations and Policy

Resolutions CRP-23 and 24 were approved unanimously.

Extracurricular Activities

Resolution CRP-11 was approved by a vote of 8 yeas; 1 nay, with Mr. Stamm casting the nay vote.

Extracurricular

Resolutions EX-20 – 22 were approved unanimously.

General Resolutions

Resolutions GEN-34 – 41 were approved unanimously.

Resolution GEN-42 was approved by a vote of 8 yeas; 1 nay, with Mr. Santoro casting the nay vote.

A COPY OF THE AGENDA IS ATTACHED.

EDUCATIONAL PERSONNEL BOARD AGENDA MAY 25, 2011

To the President and Members of the Board of School Directors:

The Human Resources Committee recommends the following Education personnel resolutions be approved:

Administrative Resignations/Terminations/Retirements

- EP-177 That the retirement/resignation of Linda A. Greth, Director of Communications, Administration Building, be accepted effective at the end of the day June 30, 2011.
- EP-178 That the resignation of Michael Harris, Instructional Supervisor at Reading High School be accepted effective at the end of the day June 30, 2011.
- EP-179 That the retirement/resignation of Joseph Koehler, Principal at Northwest Middle School be accepted effective at the end of the day August 1, 2011.
- **EP-180** That the retirement/resignation of Dr. Rose Merrell James, Director of ROCC/Student Services, be accepted effective at the end of the day July 31, 2011.
- EP-181 That the retirement/resignation of Dorothea Miller, Principal at 13th & Union Elementary School be accepted effective at the end of the day June 30, 2011.
- EP-182 That the retirement/resignation of Frank J. Vecchio, Acting Superintendent, be accepted effective at the end of the day June 30, 2011.

Instructional Resignations/Terminations/Retirements

- EP-183 That the retirement/resignation of Cheryl Auman, Math Teacher at Reading High School be accepted effective at the end of the day June 13, 2011.
- EP-184 That the retirement/resignation of Susan Bachart, Elementary Teacher Grade 5 at Thomas Ford Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-185 That the retirement/resignation of Jeanne Barber, Math Teacher at Northeast Middle School be accepted effective at the end of the day June 13, 2011.
- EP-186 That the resignation of Susan A. Bennett, Special Education Teacher at Southwest Middle School be accepted effective at the end of the day April 28, 2011. Ratification
- **EP-187** That the retirement/resignation of Kathleen Blaum, Literacy Coach at Southern Middle School be accepted effective at the end of the day June 13, 2011.

BOARD AGENDA MAY 25, 2011

- EP-188 That the retirement/resignation of Mary Ellen Breidegam, Elementary Teacher Grade 6 at the Gateway School for International Business and World Language be accepted effective at the end of the day June 13, 2011.
- EP-189 That the retirement/resignation of Vernon Burkhart, Science Teacher at Southern Middle School be accepted effective at the end of the day June 13, 2011.
- EP-190 That the retirement/resignation of Janet Buskirk, Reading Specialist at Thomas Ford Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-191 That the resignation of Danielle A. Carman, ELA Teacher Grade 3 at Glenside Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-192 That the retirement/resignation of Gail Dawson-White, Instructional Coach at Reading Intermediate High School be accepted effective at the end of the day June 13, 2011.
- EP-193 That the retirement/resignation of Janice Eisenhower, English Teacher at Southern Middle School be accepted effective at the end of the day June 13, 2011.
- EP-194 That the retirement/resignation of Katherine Endres, Family Consumer Science Teacher at Northwest Middle School be accepted effective at the end of the day June 13, 2011.
- EP-195 That the resignation of D. Marc Ermold, Science Teacher at Northeast Middle School be accepted effective at the end of the day June 13, 2011.
- EP-196 That the resignation of Christopher J. Evans, part-time EAP Tutor at Tyson Schoener Elementary School be accepted effective at the end of the day June 18, 2010. **Ratification**
- EP-197 That the retirement/resignation of Beth Gerlins, Elementary Teacher Grade 1 at Tyson Schoener Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-198 That the retirement/resignation of Robert Guigley, Physics Teacher at Reading High School be accepted effective at the end of the day June 13, 2011.
- EP-199 That the retirement/resignation of Elaine Hahn, Elementary Teacher Grade 5 at Amanda Stout Elementary School be accepted effective at the end of the day June 13, 2011.
- **EP-200** That the retirement/resignation of James Harris, Home & School Visitor, District Wide, be accepted effective at the end of the day June 30, 2011.
- **EP-201** That the retirement/resignation of Philip Kearney, English Teacher at Reading Intermediate High School be accepted effective at the end of the day June 13, 2011.

EDUCATIONAL PERSONNEL BOARD AGENDA MAY 25, 2011

- EP-202 That the retirement/resignation of Barbara Kraft, ELA Kindergarten Teacher at Lauer's Park Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-203 That the retirement/resignation of Linda Kramer, Art Teacher at Amanda Stout Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-204 That the resignation of Katharine E. Lubinski, Math Teacher at Excel be accepted effective at the end of the day June 13, 2011.
- EP-205 That the retirement/resignation of Karen Mac Grady, Special Education Teacher at Northwest Middle School be accepted effective at the end of the day June 13, 2011.
- EP-206 That the retirement/resignation of Donna Marburger, Special Education Department Head at Northeast Middle School be accepted effective at the end of the day June 13, 2011.
- EP-207 That the resignation of Zachariah T. Milch, part-time EAP Tutor at 10th & Penn Elementary School be accepted effective at the end of the day August 13, 2010. Ratification
- EP-208 That the retirement/resignation of Craig Miller, Industrial Arts Teacher at Northeast Middle School be accepted effective at the end of the day June 13, 2011.
- EP-209 That the retirement/resignation of Ruthclara Miller, ELA Teacher Grade 2 at 12th & Marion Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-210 That the retirement/resignation of Beverly Moyer, Math Coach at Southern Middle School be accepted effective at the end of the day June 13, 2011.
- **EP-211** That the retirement/resignation of Janet Opalinski, Special Education Teacher at Reading Intermediate High School be accepted effective at the end of the day June 13, 2011.
- EP-212 That the retirement/resignation of Ann Otto, Elementary Teacher Grade 4 at Amanda Stout Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-213 That the retirement/resignation of J. Marian Pike, Special Education Teacher at Reading Intermediate High School be accepted effective at the end of the day June 13, 2011.
- EP-214 That the retirement/resignation of David Pindrock, Health & Physical Education Teacher at Southern Middle School be accepted effective at the end of the day June 13, 2011.
- EP-215 That the resignation of Elisbeth H. Reese, part-time EAP Tutor at 16th & Haak Elementary School be accepted effective at the end of the day January 29, 2010. **Ratification**

EDUCATIONAL PERSONNEL BOARD AGENDA MAY 25, 2011

- EP-216 That the retirement/resignation of Judy Rhine, Instructional Coach at Northwest Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-217 That the retirement/resignation of Estela Rivera, Family Consumer Science Teacher at Southwest Middle School be accepted effective at the end of the day June 13, 2011.
- **EP-218** That the retirement/resignation of Patricia Ross, Family Consumer Science Teacher at Reading High School be accepted effective at the end of the day June 13, 2011.
- EP-219 That the retirement/resignation of Marie Schmehl, Reading Specialist at Northwest Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-220 That the retirement/resignation of Carl Simchena, Business Education Teacher at Reading High School be accepted effective at the end of the day June 13, 2011.
- EP-221 That the retirement/resignation of Helen Smith, French Teacher at Southern Middle School be accepted effective at the end of the day June 13, 2011.
- EP-222 That the retirement/resignation of Judith Smith, Elementary Teacher Grade 6 at the Gateway School for International Business and World Language be accepted effective at the end of the day June 13, 2011.
- EP-223 That the resignation of Rebecca E. Smith, part-time EAP Tutor at the Gateway School for Communication and Technology be accepted effective at the end of the day June 18, 2010. Ratification
- EP-224 That the retirement/resignation of Pamela Sonon, Elementary Teacher Grade 4 at Northwest Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-225 That the retirement/resignation of Hulya Sowerwine, Business Education Teacher at Reading High School be accepted effective at the end of the day June 13, 2011.
- EP-226 That the retirement/resignation of Claudia Sparagana, Kindergarten Teacher at Thomas Ford Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-227 That the retirement/resignation of Barbara Speicher, Math Coach at Southwest Middle School be accepted effective at the end of the day June 13, 2011.
- EP-228 That the resignation of Alice L. Strauss, part-time Kindergarten Tutor at 13th & Union Elementary School be accepted effective at the end of the day June 19, 2009. **Ratification**

- EP-229 That the retirement/resignation of Sharon Stump, Reading Specialist at Riverside Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-230 That the retirement/resignation of Diane Symons, School Psychologist at 10th & Penn Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-231 That the retirement/resignation of Barbara Tiberio, Art Teacher at Southwest Middle School be accepted effective at the end of the day June 13, 2011.
- EP-232 That the retirement/resignation of Gail Tomrell, Elementary Teacher Grade 1 at 16th & Haak Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-233 That the retirement/resignation of Colleen Ulrich, Elementary Teacher Grade 3 at Lauer's Park Elementary School be accepted effective at the end of the day June 13, 2011.
- EP-234 That the retirement/resignation of Patricia Violini, Elementary Teacher Grade 6 at the Gateway School for Communication and Technology be accepted effective at the end of the day June 13, 2011.
- EP-235 That the retirement/resignation of Thomas Ward, Science Teacher at Southwest Middle School be accepted effective at the end of the day June 13, 2011.
- EP-236 That the retirement/resignation of Patricia Wealand, Spanish Teacher at Northwest Middle School be accepted effective at the end of the day June 13, 2011.

Administrative Support Leaves of Absence Requests

EP-237 That a disability leave of absence be granted for James L. Umstead, Custodial Supervisor – 2nd Shift, Facilities, effective May 3, 2011 through the end of the day May 3, 2012. **Ratification**

Instructional Leaves of Absence Requests

- EP-238 That a family medical leave of absence, on an as needed basis, be granted for Veronica M. Caffarello-Furey, School Nurse at 13th & Union Elementary School, effective May 26, 2011. Ratification
- EP-239 That a child rearing leave of absence be granted for Michelle L. Christie, English Teacher at Reading Intermediate High School effective October 24, 2011 through the end of the day March 19, 2012.

EP-240 That a child rearing leave of absence be granted for Stephanie Kramer, Special Education/LS Teacher at Reading High School effective September 29, 2011 through the end of the day November 17, 2011.

EP-241 That a child rearing leave of absence be granted for Jennifer McCready, Elementary Teacher – Grade 4 at 10th & Penn Elementary School effective July 8, 2011 through the end of the day January 8, 2012.

EP-242 That a child rearing leave of absence be granted for Allison McDevitt, Elementary Teacher – Grade 4 at Riverside Elementary School effective October 15, 2011 through the end of the day April 15, 2012.

EP-243 That a general leave of absence, for the purpose of travel, be granted to Janet L. Ranheim, Social Studies Teacher at Reading High School effective August 21, 2011 through the end of the day August 21, 2012.

EP-244 That the Board of Directors amends Resolution EP-37 of the January 31, 2011 Human Resources agenda which read:

That the request for a disability/child rearing leave of absence be granted for Michelle S. Munteanu, Spanish Teacher at Reading Intermediate High School effective May 9, 2011 through the end of the day June 28, 2011. Ratification

EP-245 That the Board of Directors amends Resolution EP-165 of the April 27, 2011 Human Resources agenda which read:

That the request for a child rearing leave of absence be granted for Maegen N. Palmieri, Elementary Teacher – Grade 1 at Lauer's Park Elementary School effective March 15, 2011 through the end of the day October 19, 2011. Ratification

EP-246 That the Board of Directors amends Resolution EP-42 of the January 31, 2011 Human Resources agenda which read:

That the request for a child rearing leave of absence be granted for Tara Van Orden, School Counselor at 13th & Union Elementary School, effective May 3, 2011 through the end of the day June 14, 2011. Ratification

Instructional Return from Leaves of Absence

EP-247 That Brooke A. Dower, Elementary Teacher – Grade 2 at 13th & Union Elementary School return to duty from a child rearing leave of absence effective May 16, 2011. **Ratification**

- EP-248 That Danielle Greene, ELA Resource Teacher at 10th & Penn Elementary School return to duty from a child rearing leave of absence effective July 1, 2011.
- EP-249 That Katie Herbein, Elementary Teacher Grade 1 at 10th & Penn Elementary School return to duty from a disability leave of absence effective April 25, 2011. **Ratification**
- EP-250 That Bonnie L. Moran, Kindergarten Teacher at Tyson Schoener Elementary School return to duty from a child rearing leaving of absence effective June 10, 2011.
- EP-251 That Jessica M. O'Rourke, School Counselor at 16th & Haak Elementary School return to duty from a child rearing leave of absence effective May 9, 2011. Ratification
- EP-252 That Maegen Palmieri, Elementary Teacher Grade 1 at Lauer's Park Elementary School return to duty from a child rearing leave of absence effective October 20, 2011.
- EP-253 That Carolina Ramos, Spanish Teacher at Reading High School return to duty from a child rearing leave of absence effective May 9, 2011. Ratification
- EP-254 That Crystal Rauenzahn, School Counselor at Riverside Elementary School return to duty from a child rearing leave of absence effective June 1, 2011.
- EP-255 That Kristi M. Shuman, Kindergarten Teacher at Riverside Elementary School return to duty from a child rearing leave of absence effective May 16, 2011. **Ratification**
- EP-256 That Rebecca Stoner, Art Teacher at Tyson Schoener Elementary School return to duty from a child rearing leave of absence effective June 14, 2011.
- EP-257 That Kara Zubaty, Elementary Teacher Grade 1 at Amanda Stout Elementary School return to duty from a child rearing leave of absence effective May 16, 2011. Ratification

Other

- EP-258 To Be Voted On Separately
- EP-259 BE IT RESOLVED that the Board of Directors approves the elimination of one (RSSSA) 260 day Tax Department Supervisor position and one (RSSSA) 260 day Assistant Tax Department Supervisor position effective June 30, 2011.

EDUCATIONAL PERSONNEL BOARD AGENDA MAY 25, 2011

- EP-260 BE IT RESOLVED that the Board of Directors approves the elimination of the four (RSSSA) positions (Mental Health Worker, Social Worker, Translator, Volunteer Coordinator) at Excel effective June 30, 2011.
- EP-261 BE IT RESOLVED that the Board of Directors approves the elimination of one (RSAA) Principal position at Excel effective June 30, 2011.
- EP-262 BE IT RESOLVED that the Board of Directors approves the elimination of ten (REA) Special Education positions at Excel effective June 30, 2011.
- EP-263 BE IT RESOLVED that the Board of Directors approves the elimination of two (REA) Social Studies positions at Excel effective June 30, 2011.
- EP-264 BE IT RESOLVED that the Board of Directors approves the elimination of two (REA) Science positions at Excel effective June 30, 2011.
- EP-265 BE IT RESOLVED that the Board of Directors approves the elimination of one (REA) School Nurse position at Excel effective June 30, 2011.
- **EP-266** BE IT RESOLVED that the Board of Directors approves the elimination of one (REA) School Counselor position at Excel effective June 30, 2011.
- EP-267 BE IT RESOLVED that the Board of Directors approves the elimination of two (REA) Math positions at Excel effective June 30, 2011.
- EP-268 BE IT RESOLVED that the Board of Directors approves the elimination of two (REA) Intervention School Counselor positions at Excel effective June 30, 2011.
- EP-269 BE IT RESOLVED that the Board of Directors approves the elimination of one (REA) Home/School Visitor position at Excel effective June 30, 2011.
- EP-270 BE IT RESOLVED that the Board of Directors approves the elimination of one (REA) Health/Physical Education position at Excel effective June 30, 2011.
- EP-271 BE IT RESOLVED that the Board of Directors approves the elimination of two (REA) English positions at Excel effective June 30, 2011.
- EP-272 BE IT RESOLVED that the Board of Directors approves the elimination of one (REA) ELA Resource position at Excel effective June 30, 2011.
- EP-273 BE IT RESOLVED that the Board of Directors approves the elimination of two (REA) Behavioral Specialist positions at Excel effective June 30, 2011.

- EP-274 BE IT RESOLVED that the Board of Directors approves the elimination of one (REA) Art position at Excel effective June 30, 2011.
- EP-275 That the termination of Beth A. Anastasio, part-time EAP Tutor at the Gateway School for Communication and Technology be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-276 That the termination of Katelyn G. Aungst, part-time EAP Tutor at Reading Intermediate High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-277 That the termination of Lindsay A. Billops, part-time EAP Tutor at Glenside Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-278 That the termination of Amy M. Brzostek, part-time EAP Tutor at 13th & Union Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-279 That the termination of Jessica M. Chadwick, part-time EAP Tutor at Thomas Ford Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-280 That the termination of Jeanette G. Christophel, part-time EAP Tutor at 10th & Penn Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-281 That the termination of Nichole Cooper, part-time EAP Tutor at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-282 That the termination of Beth Ann Crippen, part-time EAP Tutor at Northwest Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-283** That the termination of Nicole L. Drey, part-time EAP Tutor at Riverside Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-284** That the termination of Kathleen J. Focht, part-time EAP Tutor at Thomas Ford Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.

- EP-285 That the termination of Peter H. Fuchs, part-time EAP Tutor at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-286 That the termination of Sarah E. Gallen, part-time EAP Tutor at Northwest Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-287 That the termination of Susan M. Garman, part-time EAP Tutor at 16th & Haak Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-288 That the termination of Mack A. Garvin, Jr., part-time EAP Tutor at 13th & Union Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-289 That the termination of Amy M. Heim, part-time EAP Tutor at 13th & Green Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-290 That the termination of Janice E. Hirneisen, part-time EAP Tutor at 12th & Marion Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-291 That the termination of Lisa M. Hoffman, part-time EAP Tutor at 16th & Haak Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-292** That the termination of Jessica A. Huntoon, part-time EAP Tutor at Amanda Stout Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-293** That the termination of Nancy Jackson, part-time EAP Tutor at Tyson Schoener Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-294** That the termination of Consuelo A. Jones, part-time EAP Tutor at Reading Intermediate High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.

- EP-295 That the termination of Brandi L. King, part-time EAP Tutor at Lauer's Park Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-296 That the termination of Carol A. Knapp, part-time EAP Tutor at Riverside Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-297 That the termination of Rachel E. Kurtz, part-time EAP Tutor at Southern Middle School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-298 That the termination of Sherry L. Larrick, part-time EAP Tutor at Southwest Middle School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-299** That the termination of May H. Lee, part-time EAP Tutor at Reading Intermediate High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-300 That the termination of Karen L. Lucas, part-time EAP Tutor at Northwest Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-301** That the termination of Erin P. Marabella, part-time EAP Tutor at Lauer's Park Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-302** That the termination of Jennifer A. Pietrowski, part-time EAP Tutor at Glenside Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-303 That the termination of Brenda L. Reedy, part-time EAP Tutor at 10th & Green Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-304** That the termination of Kathy M. Risser, part-time EAP Tutor at Riverside Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.

- EP-305 That the termination of Nelida Rivera, part-time EAP Tutor at Tyson Schoener Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-306 That the termination of Christine Schlappich, part-time EAP Tutor at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-307 That the termination of Anne R. Shadduck, part-time EAP Tutor at Glenside Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-308 That the termination of Jakob T. Shipe, part-time EAP Tutor at Southern Middle School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-309** That the termination of Rosemary Smither, part-time EAP Tutor at Thomas Ford Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-310** That the termination of Mathew G. Sola, part-time EAP Tutor at 13th & Green Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-311** That the termination of Daniel P. Talarico, part-time EAP Tutor at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-312** That the termination of Christopher Thomas, part-time EAP Tutor at Northeast Middle School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-313 That the termination of Kelly L. Towson, part-time EAP Tutor at Southwest Middle School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-314** That the termination of Carole K. Vlastos, part-time EAP Tutor at Glenside Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.

- EP-315 That the termination of Kimberly L. Wagner, part-time EAP Tutor at Amanda Stout Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-316 That the termination of Tamica W. Walsh-Cheney, part-time EAP Tutor at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-317 That the termination of Deborah Waples, part-time EAP Tutor at 13th & Green Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-318 That the termination of Veneth C. Waters, part-time EAP Tutor at Reading Intermediate High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-319 That the termination of Jesse M. Weidler, part-time EAP Tutor at the Gateway School for Agriculture, Science and Ecology be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-320 That the termination of Susan F. Weisman, part-time EAP Tutor at 13th & Union Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-321 That the termination of James Whalen, part-time EAP Tutor at Northeast Middle School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-322 That the termination of Maria D. Castillo, part-time EAP Virtual High School Tutor at St. Lukes be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-323 That the termination of Robert D. Duncan, part-time EAP Virtual High School Tutor at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-324 That the termination of Kristin M. Perez, part-time EAP Virtual High School Tutor at St. Lukes be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.

- EP-325 That the termination of Algernon A. Williams, part-time EAP Virtual High School Tutor at Reading Intermediate High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- **EP-326** That the termination of Dawn Wiliams, part-time Virtual High School Tutor at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-327 That the termination of Theresa G. Gallen, part-time EAP Kindergarten Tutor at 13th & Union Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-328 That the termination of Esther L. Youker, part-time Kindergarten Tutor at 13th & Union Elementary School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-329 That the termination of Maria C. Mull, part-time EAP Data Collector, Administration Building be approved effective at the end of the day June 30, 2011. Termination is due to funding cuts.
- EP-330 That the termination of Judith L. Vecchio, part-time EAP Data Collector at Reading High School be approved effective at the end of the day June 13, 2011. Termination is due to funding cuts.
- EP-331 BE IT RESOLVED that the Board of Directors approves the elimination of twelve positions (REA) District wide, currently held by emergency certified employees, effective the end of the day, July 31, 2011.
- EP-332 BE IT RESOLVED that the Board of Directors approves the transfer of Donna L. Franke from (RSAA) Assistant Director of Special Education to (REA) Elementary Teacher Grade 6 the Gateway School for Agriculture, Science, and Ecology, effective August 15, 2011 at a salary of \$88,669.00, TM15 + 48 c.i. of the 2011-2012 salary scale.
 - J. Smith retirement/position transfer
- EP-333 BE IT RESOLVED that the Board of Directors approves the transfer of Susan M. Shultz from (RSAA) Director of Special Education to (REA) Elementary Teacher Grade 6 at the Gateway School for Performing Arts, effective August 15, 2011 at a salary of \$86,169.00, TM15 + 36 c.i. of the 2011-2012 salary scale.

J. Voelker resignation

EDUCATIONAL PERSONNEL BOARD AGENDA MAY 25, 2011

EP-334 BE IT RESOLVED that the Board of Directors accepts the resignation of Thomas S. Persing, Vice Principal at Southwest Middle School, effective at the end of the day May 27, 2011.

Respectfully submitted,

James E. Washington II Committee Chairperson

EDUCATIONAL PERSONNEL BOARD AGENDA MAY 25, 2011

Other

EP-258 BE IT RESOLVED, That the Board of Directors approves the elimination of the two (2) Driver Education positions at Reading High School effective June 30, 2011.

To the President and Members of the Board of School Directors:

The Human Resources Committee recommends the following Support Staff Personnel resolutions be approved:

Resignations/Terminations/Retirements

- SSP-150 That the retirement/resignation of Carolyn Barbera, full-time Clerk 4 at the Gateway School for Communication and Technology be accepted effective at the end of the day July 15, 2011.
- SSP-151 That the retirement/resignation of Carol Becker, part-time Reading Assistant at 16th & Haak Elementary School be accepted effective at the end of the day June 13, 2011.
- SSP-152 That the resignation of Jennifer L. Bohner, full-time ES Assistant at 10th & Penn Elementary School be accepted effective at the end of the day June 3, 2011.
- SSP-153 That the retirement/resignation of Nancy Brossman, full-time Cashier at Reading High School be accepted effective at the end of the day June 3, 2011.
- SSP-154 That the retirement/resignation of Sherron Bryant, full-time General Worker at Southwest Middle School be accepted effective at the end of the day June 9, 2011.
- SSP-155 That the retirement/resignation of Rose Cook, full-time School-wide Assistant at Lauer's Park Elementary School be accepted effective at the end of the day June 13, 2011.
- SSP-156 That the retirement/resignation of Myrtle Corwin, part-time General Worker at Reading-Muhlenberg Career and Technology Center be accepted effective at the end of the day May 27, 2011.
- SSP-157 That the retirement/resignation of Cheryl A. Dietrich, full-time General Worker at Reading High School be accepted effective at the end of the day May 27, 2011.
- SSP-158 That the retirement/resignation of Grace Dunkelberger, full-time Clerk 5, Facilities, be accepted effective at the end of the day July 29, 2011.
- SSP-159 That the resignation of Evan Eckel, full-time 2nd Shift Custodian at Reading Intermediate High School be accepted effective at the end of the day May 4, 2011. **Ratification**
- **SSP-160** That the resignation of Kikianiko Garcia, full-time 10-month Security Guard at Excel be accepted effective at the end of the day May 9, 2011. **Ratification**

- SSP-161 That the termination of Marci Gauker, full-time Special Education Assistant at Northwest Middle School be approved effective at the end of the day April 25, 2011, for job abandonment. **Ratification**
- SSP-162 That the retirement/resignation of Ezekiel Golden, full-time 12-month Security Guard at Southern Middle School be accepted effective at the end of the day June 30, 2011.
- SSP-163 That the retirement/resignation of Samuel Johnson, full-time District Monitor at Reading High School be accepted effective at the end of the day June 13, 2011.
- SSP-164 That the retirement/resignation of Michele Kile, full-time Clerk 5 Principal Secretary at Reading High School be accepted effective at the end of the day June 30, 2011.
- SSP-165 That the retirement/resignation of Ruth Kraatz, full-time Cook at Reading High School will be accepted effective at the end of the day June 3, 2011.
- SSP-166 That the retirement/resignation of Patricia Latshaw, full-time Unit Leader at Northeast Middle School be accepted effective at the end of the day June 9, 2011.
- **SSP-167** That the retirement/resignation of Margaret Mish, full-time Cashier at Reading High School be accepted effective at the end of the day June 3, 2011.
- SSP-168 That the retirement/resignation of Daryln Mulligan, full-time Special Education Assistant at 12th & Marion Elementary School be accepted effective at the end of the day June 9, 2011.
- SSP-169 That the resignation of Catalina Negron, part-time Lunch Aide at Amanda Stout Elementary School be accepted effective at the end of the day April 13, 2011. Ratification
- SSP-170 That the resignation of Heneris Pena, full-time ELA Assistant at the Gateway School for Communication and Technology be accepted effective at the end of the day May 12, 2011.

 Ratification
- SSP-171 That the retirement/resignation of Margaret Reppert, part-time Clerk 2 at Northwest Elementary School be accepted effective at the end of the day June 30, 2011.
- SSP-172 That the retirement/resignation of Janis Richardson, part-time Reading Assistant at Glenside Elementary School be accepted effective at the end of the day June 13, 2011.
- SSP-173 That the retirement/resignation of Minerva Rivera, full-time Unit Leader at Lauer's Park Elementary School be accepted effective at the end of the day June 13, 2011.

- SSP-174 That the retirement/resignation of Jesus Rojas, full-time Custodian at Reading High School be accepted effective at the end of the day June 30, 2011.
- SSP-175 That the retirement/resignation of Andrea Sanchez, full-time ELA Assistant at Southwest Middle School be accepted effective at the end of the day June 13, 2011.
- SSP-176 That the retirement/resignation of Luz Santiago, full-time Clerk 5 Special Education Clerk at the Reading Opportunity Center for Children be accepted effective at the end of the day June 30, 2011.
- SSP-177 That the retirement/resignation of Michael Satz, full-time 2nd Shift Custodian at Southern Middle School be accepted effective at the end of the day August 1, 2011.
- **SSP-178** That the retirement/resignation of Ginger Smith, full-time Clerk 5 Human Resources at the Administration Building be accepted effective at the end of the day July 29, 2011.
- SSP-179 That the retirement/resignation of Gloria Snell, full-time Clerk 2 Guidance at Riverside Elementary School be accepted effective at the end of the day June 30, 2011.
- SSP-180 That the retirement/resignation of Joseph A. Talarico, full-time 2nd Shift Custodian at 12th & Marion Elementary School be accepted effective at the end of the day June 30, 2011.
- **SSP-181** That the retirement/resignation of Lois Talarigo, part-time Guidance Clerk 2 at Thomas Ford Elementary School and Lauer's Park Elementary School be accepted effective at the end of the day June 30, 2011.
- SSP-182 That the retirement/resignation of Shirley Teasdell, full-time Clerk 5 Food Services at Reading High School be accepted effective at the end of the day July 1, 2011.
- SSP-183 That the retirement/resignation of Eva Toledo, full-time Parent Outreach at Thomas Ford Elementary School be accepted effective at the end of the day June 13, 2011.
- SSP-184 That the retirement/resignation of Monsserrate Trinidad, full-time General Worker at Reading High School be accepted effective at the end of the day June 13, 2011.
- SSP-185 That the retirement/resignation of Fernanda Tucci, full-time Clerk 3 Library at Reading High School be accepted effective at the end of the day July 1, 2011.
- SSP-186 That the resignation of Kim Wilson, part-time General Work Cafeteria at Reading High School be accepted effective at the end of the day May 13, 2011. Ratification

Leaves of Absence

- **SSP-187** That a disability leave of absence be granted for Melvin Berrios, Custodian at Riverside Elementary School effective June 9, 2011 through the end of the day June 9, 2012.
- SSP-188 That a general leave of absence, for the purpose of study, be granted to Samaria Cabral, ELA Educational Assistant at Northeast Middle School effective August 29, 2011 through the end of the day December 2, 2011.
- SSP-189 That a disability leave of absence be granted for Robert C. Wolf Jr., Custodian at 13th & Union Elementary School effective May 6, 2011 through the end of the day May 6, 2012.

 Ratification
- **SSP-190** That the Board of Directors amends Resolution SSP-114 of the March 23, 2011 Human Resources agenda which read:

That the request for a disability leave of absence be granted for Bambi Swartzel, Food Service Worker at Reading High School, effective March 10, 2011 through the end of the day September 30, 2011. Ratification

Return From Leaves of Absence

SSP-191 That Donna Steffe, Custodian at 13th & Green Cottage return to duty from a disability leave of absence effective May 16, 2011. Ratification

Other

- SSP-192 BE IT RESOLVED that the Board of Directors approves the elimination of two (SEC) Security Guard positions at Excel effective June 30, 2011.
- **SSP-193** BE IT RESOLVED that the Board of Directors approves the elimination of one (TEAMSTER) Custodian position at Excel effective June 30, 2011.
- SSP-194 BE IT RESOLVED that the Board of Directors approves the elimination of eleven (RESPA) ELA and Special Education Assistant positions at Excel effective June 30, 2011.
- SSP-195 BE IT RESOLVED that the Board of Directors approves the elimination of two (SEIU) Cafeteria positions at Excel effective June 30, 2011.
- **SSP-196** BE IT RESOLVED that the Board of Directors approves the elimination of two (AFSCME) Clerk positions at Excel effective June 30, 2011.

SSP-197 BE IT RESOLVED that the Board of Directors approves the elimination of one (AFSCME) Clerk 2 Floater position at Reading Intermediate High School effective June 30, 2011.

SSP-198 BE IT RESOLVED that the Board of Directors approves the elimination of three (AFSCME) Clerk 1 District Wide Floater positions, effective June 30, 2011.

SSP-199 BE IT RESOLVED that the Board of Directors approves the elimination of thirteen (AFSCME) Guidance Clerk positions (8 part-time and 5 full-time), District Wide, effective June 30, 2011.

SSP-200 BE IT RESOLVED, That the Board of School Directors approves a one-on-one Paraprofessional, to be shared on a part-time basis, by two Gateway School for Computers and Technology students, ID# 123924 and ID# 126486, at the contractual rate of \$11.00 per hour (\$9.80 during probation period, if required) for the 2010 – 2012 school year, based on the students' Individual Education Plan (IEP). (100% Medical ACCESS Fund)

SSP-201 BE IT RESOLVED, That the Board of School Directors approves a one-on-one Paraprofessional for a Thomas Ford Elementary School student, ID# 126438, at the contractual rate of \$11.00 per hour (\$9.80 during probation period, if required) for the 2010 – 2012 school year, based on the student's Individual Education Plan (IEP). (ACCESS Fund)

Respectfully submitted,

James E. Washington II Committee Chairperson

To the President and Members of the Board of School Directors:

Your Committee on Curriculum and Technology recommends the adoption of the following resolutions:

CUR-61 BE IT RESOLVED, That the Board of School Directors authorizes the Administration to approve compensation for the following summer activities by professional and support staff:

10th & Green (Funding Source – EAP)				
48.75 hours	\$26.00	\$1267.50		
48.75 hours		\$1267.50		
48.75 hours		\$1267.50		
		\$1267.50		
	\$26.00	\$1267.50		
SUB				
e – Title I Schoo	ol Improvemen	t)		
		\$1267.50		
48.75 hours	\$26.00	\$1267.50		
77.4.70\				
– EAP)				
	** • • • • • • • • • • • • • • • • • •	***		
		\$1267.50		
		\$1267.50		
		\$1267.50		
		\$1267.50		
		\$1267.50		
	\$26.00	\$1267.50		
SUB				
ce – EAP)				
48.75 hours	\$26.00	\$1267.50		
		\$1267.50		
48.75 hours	\$26.00	\$1267.50		
48.75 hours	\$26.00	\$1267.50		
48.75 hours	\$26.00	\$1267.50		
48.75 hours	\$26.00	\$1267.50		
48.75 hours	\$26.00	\$1267.50		
	48.75 hours 48.75 hours 48.75 hours 48.75 hours 48.75 hours 48.75 hours 2 – Title I School 48.75 hours	48.75 hours \$26.00 SUB 2 - Title I School Improvemen 48.75 hours \$26.00 48.75 hours \$26.00 - EAP) 48.75 hours \$26.00		

Jessica Ramos	48.75 hours	\$26.00	\$1267.50
Margaret Schlauch	48.75 hours	\$26.00	\$1267.50
Shane Schlossberg	48.75 hours	\$26.00	\$1267.50
Debra Schwenk	48.75 hours	\$26.00	\$1267.50
Cynthia Smith-Kern	48.75 hours	\$26.00	\$1267.50
Lyn Swartz	48.75 hours	\$26.00	\$1267.50
TamaraTorres	48.75 hours	\$26.00	\$1267.50
Michelle Frey	SUB	\$26.00	
Sharon Majesky	SUB	\$26.00	
Christie McAllister	SUB	\$26.00	
Judith Treichler	SUB	\$26.00	
13th & Green (Funding Sour	ce – EAP)		
Activity / Summer Tutorin	g		
Gina Balash	48.75 hours	\$26.00	\$1267.50
Kristy Hamel	48.75 hours	\$26.00	\$1267.50
Jason Henley	48.75 hours	\$26.00	\$1267.50
Cleotilde Hernandez	48.75 hours	\$26.00	\$1267.50
Sherry Katrinak	48.75 hours	\$26.00	\$1267.50
Maryellen Killian	48.75 hours	\$26.00	\$1267.50
Kristy Kuhns	48.75 hours	\$26.00	\$1267.50
Michelle Semian	48.75 hours	\$26.00	\$1267.50
Kyle Wenrich	48.75 hours	\$26.00	\$1267.50
Courtney Hinkle	SUB	\$26.00	
Aimee Kapaona	SUB	\$26.00	
Jennifer Padron	SUB	\$26.00	
13th & Union (Funding Sour	ce – EAP)		
Activity / Summer Tutoring	g		
Barbara Cimochowski	48.75 hours	\$26.00	\$1267.50
Danielle D'Ercole	48.75 hours	\$26.00	\$1267.50
Christine Dewar	48.75 hours	\$26.00	\$1267.50
Lauren Hoodak	48.75 hours	\$26.00	\$1267.50
Susan Lesher	48.75 hours	\$26.00	\$1267.50
Bridget Manbeck	48.75 hours	\$26.00	\$1267.50
Christopher Mata	48.75 hours	\$26.00	\$1267.50
Catherine Oravec	48.75 hours	\$26.00	\$1267.50
Patrice Runkle	48.75 hours	\$26.00	\$1267.50
Emily Snyder	48.75 hours	\$26.00	\$1267.50
Clara Worrall	48.75 hours	\$26.00	\$1267.50
Sandra Kalnoski	SUB	\$26.00	
Kathleen Pallette	SUB	\$26.00	

Matthew Redcay	SUB	\$26.00	
Susan Shober	SUB	\$26.00	
16th & Haak (Funding Source	e – EAP)		
Activity / Summer Tutoring			
Marcie Blatt	48.75 hours	\$26.00	\$1267.50
Lauren Burgess	48.75 hours	\$26.00	\$1267.50
Nicole Humphreys	48.75 hours	\$26.00	\$1267.50
Sandra Madeira	48.75 hours	\$26.00	\$1267.50
Stephanie Towles	48.75 hours	\$26.00	\$1267.50
Sabrina Abrams	SUB	\$26.00	
Deborah Bare	SUB	\$26.00	
Jeanne Blum	SUB	\$26.00	
Angel Conrad	SUB	\$26.00	
Dana Puzio	SUB	\$26.00	
Benjamin Reifsnyder	SUB	\$26.00	
Amanda Stout (Funding Son	urce – EAP)		
Activity / Summer Tutoring			
Trisha Herrera	48.75 hours	\$26.00	\$1267.50
Kathleen Ritter	48.75 hours	\$26.00	\$1267.50
Shannon Sauppee	48.75 hours	\$26.00	\$1267.50
Jennifer Stoudt	48.75 hours	\$26.00	\$1267.50
Tania Heckman	SUB	\$26.00	
Nicole Makovetz	SUB	\$26.00	
Julie Weitzel	SUB	\$26.00	
Glenside (Funding Source -	FAD)		
Activity / Summer Tutoring			
Kelly Billinger	48.75 hours	\$26.00	\$1267.50
Kelly Bucca	48.75 hours	\$26.00	\$1267.50
Eric Garcia	48.75 hours	\$26.00	\$1267.50
Patrice McCall	48.75 hours	\$26.00	\$1267.50
Rachel Hoffman	48.75 hours	\$26.00	\$1267.50
	48.75 hours	\$26.00	\$1267.50
Stacey Hoffman Travis Achenbach	SUB	\$26.00	Ψ1207.50
Deanna Hummel	SUB	\$26.00	
		\$26.00	
Debra Redcay	SUB		
Caitlin Gneiding-Zook	SUB	\$26.00	

Lauer's Park (Funding Source – EAP) Activity / Summer Tutoring

Megan Comparato	48.75 hours	\$26.00	\$1267.50
Jennifer Hauptly	48.75 hours	\$26.00	\$1267.50
Stacey Hensley	48.75 hours	\$26.00	\$1267.50
Marie Mengel	48.75 hours	\$26.00	\$1267.50
Meredith Richter	48.75 hours	\$26.00	\$1267.50
Mark Steinmeyer	48.75 hours	\$26.00	\$1267.50
Barbara Yurick	48.75 hours	\$26.00	\$1267.50
Rebecca Alexader	SUB	\$26.00	
Rachael Broad	SUB	\$26.00	
Dawn Conrad	SUB	\$26.00	
Roberta Hart	SUB	\$26.00	
Heidi Mease	SUB	\$26.00	
Christopher Paskowski	SUB	\$26.00	
Cindy Roberts	SUB	\$26.00	
Susan Watrous	SUB	\$26.00	
Lauer's Park (Funding Sou	rce – Private do	nation from	the Jerlyn Foundation)
Activity / Garden Camp			
Mark Steinmeyer	60 hours	\$26.00	\$1,560.00
Eric Biassey	22 hours	\$26.00	\$572.00
Lauer's Park (Funding Sou	rce – Parent Gro	oup and priv	ate donations)
Activity / Art Camp			
Ericka Evans-Loos	12 hours	\$26.00	312.00
Millmont (Funding Source	- EAP)		
Activity / Summer Tutorin	ng		
Elaine Becker	48.75 hours	\$26.00	\$1267.50
Michael Senick	48.75 hours	\$26.00	\$1267.50
Amy Duff	SUB	\$26.00	
Louise Focht	SUB	\$26.00	
Kyla Ramsey	SUB	\$26.00	
Northwest Area (Funding S	Source – EAP)		
Activity / Summer Tutorin	ıg		
Amber Boaman	48.75 hours	\$26.00	\$1267.50
Kimberly Estock	48.75 hours	\$26.00	\$1267.50
Theresa Heckman	48.75 hours	\$26.00	\$1267.50
Lisa Herbinko	48.75 hours	\$26.00	\$1267.50
Barbara Nye	48.75 hours	\$26.00	\$1267.50
Naaman Schlegel	48.75 hours	\$26.00	\$1267.50
Sandra Sharadin	48.75 hours	\$26.00	\$1267.50

Christina Davis	SUB	\$26.00	
Merryl Eisenberg	SUB	\$26.00	
Lacey Kerchner	SUB	\$26.00	
Cathy Noone	SUB	\$26.00	
,			
Riverside (Funding Source -	- EAP)		
Activity / Summer Tutoring	3		
Bonnie Fox	48.75 hours	\$26.00	\$1267.50
Michelle Heffner	48.75 hours	\$26.00	\$1267.50
Amanda Hall	48.75 hours	\$26.00	\$1267.50
Marlene Mier	48.75 hours	\$26.00	\$1267.50
Ian Moore	48.75 hours	\$26.00	\$1267.50
Amanda Natale	48.75 hours	\$26.00	\$1267.50
Tina Schoenley	48.75 hours	\$26.00	\$1267.50
Aaron Thompson	48.75 hours	\$26.00	\$1267.50
Billie Jo Chiarelli	SUB	\$26.00	
Holly Mount	SUB	\$26.00	
Ryan Nye	SUB	\$26.00	
Kathy Bresinger	SUB	\$26.00	
D: 11 (F I: 0	Tul ICI. 1	T	
Riverside (Funding Source -		1mprovement)	
Activity / Summer Tutoring	48.75 hours	¢26.00	\$1267.50
April Halligan		\$26.00 \$26.00	\$1267.50
Erin Neiswender	48.75 hours	\$26.00	φ1207.30
Billie Jo Chiarell	SUB		
Kathy Brensinger	SUB	\$26.00	
Ryan Nye	SUB	\$26.00	
Holly Mount	SUB	\$26.00	
Thomas Ford (Funding Sour	rce – EAP)		
Activity / Summer Tutoring			
Jessica Franken	48.75 hours	\$26.00	\$1267.50
Valerie Hower	48.75 hours	\$26.00	\$1267.50
Lori Snyder	48.75 hours	\$26.00	\$1267.50
Louise Focht	SUB	\$26.00	
Meghan King	SUB	\$26.00	
Tyson-Schoener (Funding S			
Activity / Summer Tutoring		424.00	6107 = 50
Robin Banks	48.75 hours	\$26.00	\$1267.50
Kathleen Evans	48.75 hours	\$26.00	\$1267.50
Victoria Hartranft	48.75 hours	\$26.00	\$1267.50

Lisa Richter	48.75 hours	\$26.00	\$1267.50
Steven Sieller	48.75 hours	\$26.00	\$1267.50
Amanda Wiland	48.75 hours	\$26.00	\$1267.50
Thomas Morgan	SUB	\$26.00	
AGSCE Gateway (Fundin	ıg Source – EAP)	– Site: Midd	lle Schools
Activity / Summer Tutor	ing		
Linda Pereira	48.75 hours	\$26.00	\$1267.50
Rachael Broad	48.75 hours	\$26.00	\$1267.50
Shannon Carl	48.75 hours	\$26.00	\$1267.50
Sarah Christman	48.75 hours	\$26.00	\$1267.50
Kristen Manwiller	SUB	\$26.00	
Comm Tech Gateway (Fi	ınding Source – E	(AP) – Site: N	Middle Schools
Activity / Summer Tutor	ing		
Matthew Barrell	48.75 hours	\$26.00	\$1267.50
Zach Focht	48.75 hours	\$26.00	\$1267.50
Lynn Howell	48.75 hours	\$26.00	\$1267.50
Stewart Miller	48.75 hours	\$26.00	\$1267.50
Joshua Noel	SUB	\$26.00	
IBWL Gateway (Funding	Source – EAP) –	Site: Middle	Schools
Activity / Summer Tutor			
Amy Heist	48.75 hours	\$26.00	\$1267.50
Evan Jack	48.75 hours	\$26.00	\$1267.50
Lisa Reber	48.75 hours	\$26.00	\$1267.50
Esme Santiago	48.75 hours	\$26.00	\$1267.50
Performing Arts Gatewa	y (Funding Source	e-EAP) – Site	e: Middle Schools
Activity / Summer Tutor			
Amy Duff	48.75 hours	\$26.00	\$1267.50
Lisa Fabian	48.75 hours	\$26.00	\$1267.50
Jennifer Gagliardi	48.75 hours	\$26.00	\$1267.50
Terrence Koch	48.75 hours	\$26.00	\$1267.50
Northeast Middle (Fundi	ng Source – EAP)		
Activity / Summer Tutor	ing		
John Baker	48.75 hours	\$26.00	\$1267.50
Lisa Comly	48.75 hours	\$26.00	\$1267.50
Denise Solecki	48.75 hours	\$26.00	\$1267.50
Tara Turner	48.75 hours	\$26.00	\$1267.50
Anthony Marula	SUB	\$26.00	

Daniel Noll	SUB	\$26.00

Northeast Middle School (Funding Source – General Fund)

Activity	/ Middle	School	Course	Failures
----------	----------	--------	--------	-----------------

Allison Paxson	45.5 hours	\$26.00	\$1183.00

Northwest Middle (Funding Source – EAP)

Activity / Summer Tutoring

Activity / Summer Tutorin	g		
Karen Adams	48.75 hours	\$26.00	\$1267.50
Andrew Altland	48.75 hours	\$26.00	\$1267.50
Shannon Darlington	48.75 hours	\$26.00	\$1267.50
Megan Faust	48.75 hours	\$26.00	\$1267.50
Laura Fisher	48.75 hours	\$26.00	\$1267.50
Meredith Heming	48.75 hours	\$26.00	\$1267.50
Martin Schlosser	48.75 hours	\$26.00	\$1267.50
Michelle Baver	SUB	\$26.00	
Luisa Estrada	SUB	\$26.00	
Bradley Greth	SUB	\$26.00	
Lori Lacy	SUB	\$26.00	
Michael Perez	SUB	\$26.00	
Michelle Pickup	SUB	\$26.00	
Adrian Shaeffer	SUB	\$26.00	
Ryan Shomo	SUB	\$26.00	
Julie Yakaitis	SUB	\$26.00	

Northwest Middle (Funding Source – Title I School Improvement)

Activity / Summer Tutoring

Karen Adams	33.75 hours	\$26.00	\$877.50
Andrew Altland	36 hours	\$26.00	\$936.00
Shannon Darlington	33.75 hours	\$26.00	\$877.50
Robert Dowling	82.50 hours	\$26.00	\$2,145.00
Luis Estrada	82.50 hours	\$26.00	\$2,145.00
Megan Faust (Binasiewicz)	33.75 hours	\$26.00	\$877.50
Laura Fisher	36 hours	\$26.00	\$936.00
Meredith Heming	33.75 hours	\$26.00	\$877.50
Martin Schlosser	33.75 hours	\$26.00	\$877.50
Ryan Shomo	82.50 hours	\$26.00	\$2,145.00
Julie Yakaitis	82.50 hours	\$26.00	\$2,145.00
Karen Adams	SUB	\$26.00	
Andrew Altland	SUB	\$26.00	
Shannon Darlington	SUB	\$26.00	
Laura Fisher	SUB	\$26.00	

Bradley Greth	SUB	\$26.00	
Lori Lacy	SUB	\$26.00	
Meredith Heming	SUB	\$26.00	
Michael Perez	SUB	\$26.00	
Michelle Pickup	SUB	\$26.00	
Adrian Schaeffer	SUB	\$26.00	
Northwest Middle School (Funding Source	e – General Fun	d)
Activity / Middle School Co			
Bradley Greth	45.5 hours	\$26.00	\$1183.00
Diame, Great			
Southern Middle (Funding S	Source – EAP)		
Activity / Summer Tutoring			
David Dedman	48.75 hours	\$26.00	\$1267.50
Kymberly Downer	48.75 hours	\$26.00	\$1267.50
Janna Isbell	48.75 hours	\$26.00	\$1267.50
Candice Kehres	48.75 hours	\$26.00	\$1267.50
Richard MacGrady	48.75 hours	\$26.00	\$1267.50
Jennifer MacWilliam	48.75 hours	\$26.00	\$1267.50
Robert Mazzo	48.75 hours	\$26.00	\$1267.50
Christopher Meyer	48.75 hours	\$26.00	\$1267.50
Julie Rutt	48.75 hours	\$26.00	\$1267.50
Lacey Smey	48.75 hours	\$26.00	\$1267.50
Janice Brosz	SUB	\$26.00	
Kasey Detwiler	SUB	\$26.00	
Kim Epler	SUB	\$26.00	
Court and Middle Coloral (E.	1: C	Commel Found	N
Southern Middle School (Fr		- General Fana	
Activity / Middle School Co		¢26.00	¢1102.00
Kate Gallagher	45.5 hours	\$26.00	\$1183.00
Southwest Middle (Funding	Source – EAP		
Activity / Summer Tutoring			
William Fehr	48.75 hours	\$26.00	\$1267.50
Kristin Lebo	48.75 hours	\$26.00	\$1267.50
Michael Minnich	48.75 hours	\$26.00	\$1267.50
Shannon Carl	SUB	\$26.00	
Jessica Diluzio	SUB	\$26.00	
Southwest Middle (Funding	Source – Title	I School Impre	ovement)
Activity / Summer Tutoring			
William Fehr	48.75 hours	\$26.00	\$1267.50
· · · · · · · · · · · · · · · · · · ·	10., 0 110416	¥20.00	42-07.00

Kr	ristin Lebo	48.75 hours	\$26.00	\$1267.50			
Mi	ichael Minnich	48.75 hours	\$26.00	\$1267.50			
Ni	na Santee	48.75 hours	\$26.00	\$1267.50			
Ra	ymond Pedraza	48.75 hours	\$26.00	\$1267.50			
	ura Morgan	48.75 hours	\$26.00	\$1267.50			
	annon Carl	SUB	\$26.00				
Jes	ssica Diluzio	SUB	\$26.00				
Southwest Middle School (Funding Source – General Fund)							
	ctivity / Middle School C						
	ory Miller	45.5 hours	\$26.00	\$1183.00			
Reading High/Citadel (Funding Source – General Fund)							
Activity / Grade 9-11 Course Failures							
	ystal Angstadt	96 hours	\$26.00	\$2496.00			
	ian Benkert	96 hours	\$26.00	\$2496.00			
Do	onald Byrne	96 hours	\$26.00	\$2496.00			
Tif	ffany Charles	96 hours	\$26.00	\$2496.00			
Ry	an Crampsie	96 hours	\$26.00	\$2496.00			
Ch	ristopher Dailey	96 hours	\$26.00	\$2496.00			
Ch	nristina Dillon	96 hours	\$26.00	\$2496.00			
Su	san Jones	96 hours	\$26.00	\$2496.00			
Ste	efanie Kline	96 hours	\$26.00	\$2496.00			
Jo	die Madueno	96 hours	\$26.00	\$2496.00			
Ch	nristine Melder	96 hours	\$26.00	\$2496.00			
Jer	nnifer Oakes	96 hours	\$26.00	\$2496.00			
Sc	ott Oplinger	96 hours	\$26.00	\$2496.00			
Ti	m Redding	96 hours	\$26.00	\$2496.00			
Be	etty Reyes	96 hours	\$26.00	\$2496.00			
Ar	nita Ridge	96 hours	\$26.00	\$2496.00			
La	ura Ritter	96 hours	\$26.00	\$2496.00			
Ke	elly Santiago	96 hours	\$26.00	\$2496.00			
Ste	ephanie Shreves	96 hours	\$26.00	\$2496.00			
A1	exandra Wagner	96 hours	\$26.00	\$2496.00			
Co	orey Weir	96 hours	\$26.00	\$2496.00			
Jas	son Zeigler	96 hours	\$26.00	\$2496.00			
Re	Reading High School (Funding Source - Title I & School Improvement						
Activity / Senior Failure Summer School							
Jos	seph Andrieux	132 hours	\$26.00	\$3,432.00			
Da	aniel Hauman	132 hours	\$26.00	\$3,432.00			
7/		1001	407.00	do 400 00			

\$26.00

132 hours

Kathryn Moser

\$3,432.00

	Christine Pellegrini	132 hours	\$26.00	\$3,432.00			
	Jamie Travis	132 hours	\$26.00	\$3,432.00			
	Chris Zuber	40 hours	\$26.00	\$1,040.00			
	Administration (Funding S	ource – Title II	(I)				
	Katherine Igusky	88 hours	\$26.00	\$2,288.00			
	Barbara Nye	88 hours	\$26.00	\$2,288.00			
	Samaria Cabral	84 hours	\$18.00	\$1,512.00			
	Maritza Vargas	84 hours	\$18.00	\$1,512.00			
	Administration (Funding S	ource – Genera	l Funds)				
	Activity / ELA Summer Tes	sting					
	Rita Ferriera	106 hours	\$26.00	\$2,756.00			
	Michelle Texter	106 hours	\$26.00	\$2,756.00			
	Maria Diaz-Apponte	82 hours	\$26.00	\$2,132.00			
	Administration (Funding S	ource – Title II	(I)				
Activity / Summer Curriculum Writing							
	Pamela Wheeler	40 hours	\$26.00	\$1,040.00			
	Leo Hanley	40 hours	\$26.00	\$1,040.00			
	Andrea Lillo-Vega	10 hours	\$26.00	\$260.00			
	Mansi Pfeister	10 hours	\$26.00	\$260.00			
	Karen Balk	10 hours	\$26.00	\$260.00			
	Daniel Hauman	10 hours	\$26.00	\$260.00			
	Arelis Perez-Henry	10 hours	\$26.00	\$260.00			
	Kecia Henry	10 hours	\$26.00	\$260.00			
	Jasmin Sanchez	10 hours	\$26.00	\$260.00			
	Amy Berkley	10 hours	\$26.00	\$260.00			

CUR-62 BE IT RESOLVED, That the Board of Directors approves Amy Berkley as a substitute for the Virtual High School Program for the 2010-2011 school year, at the contracted rate of \$26.00 per hour, funded by the General Fund.

CUR-63 BE IT RESOLVED, That the Board of Directors approves the proposal for the pilot program in Language Arts at 13th & Union, 16th & Haak, 12th & Marion, Amanda Stout, Millmont, Glenside, Northwest Area, Lauer's Park, Thomas Ford and Tyson-Schoener, at a cost not to exceed \$1,372,110.01, funded by Title 1, Title III, ARRA (IDEA) and PA PACT.

CUR-63-A

CUR-64 BE IT RESOLVED, That the Board of Directors authorizes the Administration to submit an application to Reading Is Fundamental, Inc., Washington, D.C. for a 2011-12 R.I.F. grant.

CUR-65 RESOLUTION TO BE VOTED ON SEPARATELY.

CUR-66 BE IT RESOLVED, That the Board of Directors approves the services agreement with Nancy Payton, independent contractor, for Special Education consulting services, not to exceed \$2,975.00, funding by (General Fund account #10-2271-000-1-71-00-0-123).

CUR-66-A

CUR-67 BE IT RESOLVED, That the Board of School Directors approves the partnership between the Reading School District and the following University for the purpose of student teaching:

Lancaster Bible College

CUR-67-A

CUR-68 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the School Security Personnel Institute at Bloomsburg University, from June 13-16, 2011. The cost is not to exceed \$76.50, funding by (General Fund account # 10-2660-000-0-00-00-0-580).

Russell DelRosario

Scott Anuszewski

CUR-68-A

CUR-69 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the Astronomy Course at Penn State University, from July 18-22, 2011. The cost is not to exceed \$298.92, funding by (General Fund account # 10-1100-000-3-81-13-0-0-580).

Carol Semanchick

CUR-69-A

CUR-70 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the AP Training, from June 27-30, 2011. The cost is not to exceed \$827.00, funding by (General Fund account #10-2271-000-3-73-00-0-0-580).

Sarah Hinzman

CUR-70-A

CUR-71 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the AP Training, from July 11-14, 2011. The cost is not to exceed \$2,053.59, funding by (General Fund account #10-2271-000-3-73-00-0-0-580).

Janet King

Eric Knorr

CUR-71-A

CUR-72 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the AP Training, from July 25-28, 2011. The cost is not to exceed \$1,935.60, funding by (General Fund account #10-2271-000-3-73-00-0-0-580).

Paige Sechler

Mark Sewell

CUR-72-A

CUR-73 BE IT RESOLVED, That the Board of School Directors approves the agreement with Delaware Valley High School (DVHS) to provide alternative education services at a cost of \$8,800.00 per seat for 200 seats as per the attached proposal.

CUR-73-A

Respectfully submitted,

Karen H. McCree Committee Chairperson

To the President and Members of the Board of School Directors:

Your Committee on Curriculum and Technology recommends the adoption of the following resolutions:

CUR-65 BE IT RESOLVED, That the Board of Directors approves the Letter of Agreement with Alvernia University for contracting services in an amount not to exceed \$2,785 for coordinating the Reading Schools Summer Reading Project, funding through the 2010-11 School Demonstration Grant.

CUR-65-A

To the President and Members of the Board of School Directors:

Your Committee on Finance and Legal recommends the adoption of the following resolutions:

FIN-120 BE IT RESOLVED, That the Board of School Directors approves/ratifies the bill list of payments for the General Fund for the month of March 2011 in the amount of \$4,435,576.07 as attached.

FIN-120A

FIN-121 BE IT RESOLVED, That the Board of School Directors approves/ratifies the bill list for the Cafeteria Fund for the month of March 2011 in the amount of \$701,463.71.

FIN-121A

FIN-122 BE IT RESOLVED, That the Board of School Directors approves/ratifies the bill list for the Trust & Agency Fund for the month of March 2011 in the amount of \$13,636.67, as attached.

FIN-122A

FIN-123 BE IT RESOLVED, That the Board of School Directors ratifies the bill list for the 2001 G.O. Bond Fund for the month of May 2011 in the amount of \$4,673.30, as attached.

FIN-123A

FIN-124 BE IT RESOLVED, That the Board of School Directors approves the 2001 Bond Fund Financial Report as of March 31, 2011.

FIN-124A

FIN-125 BE IT RESOLVED, That the Board of School Directors ratifies the bill list for the 2008 G.O. Bond Fund for the month of May 2011 in the amount \$54,188.60, as attached.

FIN-125A

FIN-126 BE IT RESOLVED, That the Board of School Directors approves the 2008 Bond Fund Financial Report as of March 31, 2011.

FIN-126A

FIN-127 BE IT RESOLVED, That the Board of School Directors approves the Treasurer's Report for the period ending March 31, 2011, as attached.

FIN-127A

FIN-128 BE IT RESOLVED, That the Board of School Directors approves the Investment Report as of March 31, 2011, as attached.

FIN-128A

FIN-129 BE IT RESOLVED, That the Board of School Directors accepts the Revenues and Expenditures Status Reports for the General Fund for the month ending March 31, 2011.

FIN-129A

FIN-130 BE IT RESOLVED, That the Board of School Directors approves 2010-2011 budget transfers as attached.

FIN-130A

FIN-131 BE IT RESOLVED: That the tax collector for the Reading School District is hereby exonerated from collecting the 2010 School Taxes for the property owned by Berks County Association for the Hearing Impaired, Inc. d/b/a Berks Deaf and Hard of Hearing Services located at 2045 Centre Avenue, PIN No. 14-5308-19-61-4623 in the amount of \$9,866.97.

FIN-131A

FIN-132 BE IT RESOLVED, That the Board of School Directors acknowledges approval from PDE of PlanCon Part D, Project Accounting Based on Estimates, for Amanda Stout/Benners Court Elementary School project, as attached.

FIN-132A

FIN-133 BE IT RESOLVED, That the Board of School Directors acknowledges approval from PDE of PlanCon Part E, Design Development, for Amanda Stout/Benners Court Elementary School project, as attached.

FIN-133A

FIN-134 BE IT RESOLVED, That the Board of School Directors acknowledges approval from PDE of PlanCon Part F, Construction Documents, for Amanda Stout/Benners Court Elementary School project, as attached.

FIN-134A

FIN-135 BE IT RESOLVED, That the Board of School Directors approves the request of the Food Services Department to enter into an Agreement with the Pennsylvania Department of Education, Division of Food and Nutrition, to operate a Summer Feeding program at the following sites:

Olivet's - Mulberry Street

Olivet's - Christ Lutheran Church

Olivet's - PAL

Olivet's - 13th St. & Perkiomen Avenue

Olivet's - Clinton Street

Millmont Campus Reading High School Hope Lutheran Church

Salvation Army

Citadel Intermediate High School

FIN-135A

FIN-136 BE IT RESOLVED, That the Board of School Directors approves the following Food Service employees to work the 2011 Summer Feeding Program which will extend from June 20, 2011 thru August 12, 2011:

Cooks - \$12.25

Debra Eckert

Dorothy Pordham

Production/General Worker/Floaters - \$12.00

Rebecca Eadline

Betty Snider

Production/General Worker/Floater/Monitor - \$12.00

Judy Conrad

General Worker/Production/Site Attendants - \$12.00

Kim Behm

Susan Cooper

Carol Crammer

Maria DeJesus

Carol Himmelberger

Christine Kramer (Substitute)

Rosemary Leonardziak

Debra Longlott

Patricia Spohn

Margaret Walker

Joyce Wawrzyniak

FIN-137 THIS RESOLUTION WAS PULLED PRIOR TO COMMITTEE-OF-THE-WHOLE.

FIN-138 BE IT RESOLVED, That the Board of School Directors authorizes the School District's Business Office to offer for sale to the general public the following surplus as attached. If there are no offers to buy any or all of the above described items the School District Business Office is authorized to dispose of the items as refuse. Under no circumstance shall the property be offered to anyone free of charge.

FIN-138A

FIN-139 BE IT RESOLVED, That the Board of School Directors approves the award of the following General Office & Teaching Supplies bids for the 2011 - 2012 school year.

Art Store Inc. - \$26,028.47

Elgin School Supply Co. Inc. - \$1,413.21

Hammond & Stephens - \$429.76

Kurtz Brothers - \$39,299.71

National Art & School Supplies - \$9,967.44

Phillips Supply Co. - \$5,424.08

Pyramid School Products - \$33,828.76

School Specialty Inc. - \$26,498.64

Standard Stationery Supply Co. - \$22,574.45

GRAND TOTAL = \$165,464.52

FIN-139A

FIN-140 BE IT RESOLVED, That the Board of School Directors approves the award of the following Industrial Arts Supplies bids for the 2011 - 2012 school year.

Art Store Inc. - \$1,309.26

Brodhead Garrett Co. - \$209.06

Forest County Wood Products - \$1,229.35

Kelvin Electronics Inc. - \$1,030.57

Lafferty & Co. Inc. - \$720.00

Metco Supply Inc. - \$2,190.31

Paxton/Patterson LLC - \$530.49

Pitsco Inc. - \$88.65

Quill Corp. - \$5.73

Satco Supply - \$1,670.84

Sherwin-Williams Co. - \$625.81

GRAND TOTAL = \$9,610.07

FIN-140A

FIN-141 BE IT RESOLVED, That the Board of School Directors approves the award of the following Family & Consumer Science Supplies bids for the 2011 - 2012 school year.

Metco Supply Inc. - \$975.42

S.A.N.E. - \$2,312.25

GRAND TOTAL = \$3,287.67

FIN-141A

FIN-142 BE IT RESOLVED, That the Board of School Directors approves the award of the following Art Supplies bids for the 2011 - 2012 school year.

Art Store Inc. - \$11,206.55

Dick Blick Art Materials - \$2,857.86

Elgin School Supply Co. Inc. - \$1,313.30

Kurtz Brothers - \$2,178.54

Metco Supply Inc. - \$103.62 NASCO - \$2,117.81 National Art & School Supplies - \$10,261.74 Pyramid School Products - \$2,917.38 Quill Corporation - \$3,008.04 S & S Worldwide Inc. - \$871.31 School Specialty Inc. - \$9,373.83 Standard Stationery Supply Co. - \$131.69 Triarco Arts & Crafts LLC - \$1,056.09 GRAND TOTAL - \$47,397.75

FIN-142A

FIN-143 BE IT RESOLVED, That the Board of School Directors approves the award of the following Physical Education Supplies bids for the 2011 - 2012 school year.

Gopher Sport - \$55.68

Pyramid School Products - \$974.54

S&S Worldwide Inc. - \$1491.69

School Specialty Inc. - \$2991.56

Sport Supply Group Inc. - \$3,049.41

GRAND TOTAL = \$8,562.88

FIN-143A

FIN-144 BE IT RESOLVED, That the Board of School Directors approves the award of the following Janitorial Supplies bids for the 2011 - 2012 school year.

Amsan Eagle Maintenance Supply - \$9,543.25

Calico Industries, Inc. - \$6,775.68

Clean Image, Inc. - \$200,946.25

M J Earl, Inc. - \$61,680.24

Penn Valley Chemical Company - \$5,107.80

Philip Rosenau Company, Inc. - \$23,264.65

Pyramid School Products - \$5,993.36

Quill Corporation - \$4,053.89

Solo Supplies - \$6,779.56

Xpedx-Harrisburg Division - \$25,282.90

GRAND TOTAL = \$349,427.58

FIN-144A

FIN-145 BE IT RESOLVED, That the Board of School Directors approves the award of the following Boiler Materials bid for the 2011 - 2012 school year.

Bonfitto Inc. - \$45,984.50

Reading Foundry & Supply Co. - \$11,290.23

GRAND TOTAL = \$57,274.73

FIN-145A

FIN-146 BE IT RESOLVED, That the Board of Directors of the Reading School District approves the award of the following Ceiling & Floor Tiles bid for the 2011 - 2012 school year.

Continental Flooring Co. - \$13,979.99

GRAND TOTAL = \$13,979.99

FIN-146A

FIN-147 BE IT RESOLVED, That the Board of School Directors approves the award of the following Electrical Supplies bid for the 2011 - 2012 school year.

Denney Electric Supply Inc. - \$7,820.70

Graybar Electric - \$13,921.14

Metco Supply Inc. - \$21,760.64

GRAND TOTAL = \$21,760.64

FIN-147A

FIN-148 BE IT RESOLVED, That the Board of School Directors approves the award of the following HVAC Supplies bid for the 2011 - 2012 school year.

Bonfitto Inc. - \$126,570.00

Reading Foundry & Supply Co. - \$7,631.00

GRAND TOTAL = \$134,201.00

FIN-148A

FIN-149 BE IT RESOLVED, That the Board of School Directors approves the award of the following Fire Alarm Equipment bid for the 2011 - 2012 school year.

International Systems of America - \$19,991.84

GRAND TOTAL = \$19,991.84

FIN-149A

FIN-150 BE IT RESOLVED, That the Board of School Directors approves the award of the following Paint & Paint Supplies bid for the 2011 - 2012 school year.

Metco Supply Inc. - \$114.96

Sherwin-Williams Co. - \$13,138.18

The Glidden Co. - \$14,590.36

GRAND TOTAL - \$27,843.50

FIN-150A

FIN-151 THIS RESOLUTION WILL BE VOTED ON SEPARATELY.

FIN-152 BE IT RESOLVED, That the Board of School Directors approves the proposal from Trane U.S. Inc. for the replacement of air conditioning compressors at 12th & Marion Elementary School at a cost not to exceed \$27,960.00, per Costars pricing, contract #008-171.

FIN-152A

FIN-153 BE IT RESOLVED, That the Board of School Directors approves the award of the following Plumbing Supplies bid for the 2011 - 2012 school year.

Plumbing Specialties Inc - \$6,378.50

Reading Foundry & Supply Co - \$72,928.40

Weinstein Supply Corporation - \$5,538.20

GRAND TOTAL - \$84,845.10

FIN-153A

FIN-154 BE IT RESOLVED, That the Board of School Directors approves the extracurricular contract with Linda Greth as Secretary of the Board at a cost of \$12,000.00 for the period July 1, 2011 through June 30, 2012, as per the attached contract. Contract by district labor solicitor.

FIN-154A

add- PIN- 155- Bond Swap.

FIN-151 BE IT RESOLVED, That the Board of School Directors adopts the preliminary General Fund Budget for the Fiscal Year 2011-2012 in the amount of \$216,383,608.00, per Section 687 of the Pennsylvania School Code.

HANDOUT

FACILITIES AND SECURITY BOARD MEETING MAY 25, 2011

To the President and Members of the Board of School Directors:

Your Committee on Facilities and Security recommends the adoption of the following resolutions:

FAC-36 BE IT RESOLVED, That the Board of School Directors approves non-reimbursable form PDE 3074 (a) for the 717 Tulpehocken Street Maintenance Building Project.

FAC-36-A

FAC-37 IN RE: PAYMENT OF WAGNER HOHNS INGLIS INVOICE NO. 103831, 1/31/2011

WHEREAS, by Resolution FAC-332, dated September 22, 2010, the Board authorized the engagement of Wagner Hohns Inglis, Inc., of Mt. Laurel, NJ, to review progress schedules and related matters concerning the Reading Intermediate High School project, at a cost not to exceed \$56,500.00;

WHEREAS, by subsequent resolution the Board increased the budget by \$3,300.00 to \$59,800.00 on account of such engagement;

WHEREAS, the Board has previously authorized and made payments to Wagner totaling \$59,798.00; and

WHEREAS, Wagner's current invoice totals \$14,418.25;

RESOLVED, that the existing budget shall be increased by \$14,420.00 and, further, that the Administration shall be authorized to pay Wagner's invoice no. 103831 in the sum of \$14,318.25, as submitted.

FAC-38 BE IT RESOLVED That the Board of Directors of the Reading School District approves quality control services (owner testing) for the Amanda Stout/Benner's Court Project to Schuylkill Valley Engineering, Inc for the amount of \$36,185.00. Monies to be taken from the 2008 Bond Fund.

FAC-38-A

Respectfully Submitted,

Joesph R. Breton Committee Chairperson To the President and Members of the Board of School Directors:

Your Committee on Student Services recommends the adoption of the following resolutions:

SS-55 BE IT RESOLVED, That the Board of School Directors ratifies the continuation of an Agreement between the Reading School District and KidsPeace Children's Hospital, Inc.., County of Lehigh, Pennsylvania to provide tutorial education services for students listed below, placed in the Acute Partial Hospital Program referred by the parent/guardian. Services will be provided by KidsPeace National Centers, Inc., at the tutorial rate of \$26.00 per hour, five (5) hours per week, at a cost not to exceed \$3,276.00. (General Fund Account # 10-1430-000-0-00-00-0-0-320 and General Fund - Special Education Account # 10-1241-000-0-00-19-0-0-563)

Std ID#	Duration	Cost / Std
112179 (Regular ed., re-admitted)	April 20, 2011 thru June 10, 2011 or earlier	\$832.00
109558 (Special Education)	April 27, 2011 thru May 2, 2011	\$104.00
313118 (Special Education)	May 3, 2011 thru June 10, 2011 or earlier	\$702.00
127006 (Special Education)	May 6, 2011 thru June 10, 2011 or earlier	\$624.00
100264 (Special Education)	May 11, 2011 thru June 10, 2011 or earlier	\$546.00
112939 (Special Education)	May 17, 2011 thru June 10, 2011 or earlier	\$468.00
		CC FF A

SS-55-A

SS-56 BE IT RESOLVED, That the Board of School Directors ratifies the Agreement between Education Inc. and the Reading School District for educational tutoring services for a Special Education student, ID# 300491, placed in the Brooke Glen Behavioral Hospital, located in Philadelphia, Pennsylvania, by his or her parent(s). Services will be provided at the tutorial rate of \$44.00 per hour, 10 hours per week, plus a .33% administration charge per hour commencing April 25, 2011 thru May 12, 2011. Total cost not to exceed \$1,638.56. (General Fund – Special Education Account # 10-1240-000-0-00-19-0-0563)

SS-56-A

SS-57 BE IT RESOLVED, That the Board of School Directors ratifies the Agreement between the Reading School District and Philhaven, Mt. Gretna, Pennsylvania to provide tutorial education services for students listed below. Services will be provided by Philhaven at the tutorial rate of \$26.00 per hour, five (5) hours per week, at a cost not to exceed \$936.00. (General Fund – Special Education Account # 10-1241-000-1-00-19-0-0563; General Fund Account # 10-1430-000-1-16-4600-329)

Std ID#	<u>Duration</u>	Cost / Std
124516 (Special Education)	April 26, 2011 thru May 20, 2011 or earlier	\$494.00
309684 (Regular Education)	April 15, 2011 thru May 13, 2011 or earlier	\$442.00
		SS-57-A

SS-58 BE IT RESOLVED, That the Board of School Directors approves the 2010 – 2011 Extended School Year (ESY) Enrollment Contract between Camphill Special School and the Reading School District providing educational support to student, ID# 101808, at the Educational fee of \$196.11 per day for 20 days, commencing July 4, 2011 thru July 29, 2011. Total cost not to exceed \$3,922.20. (General Fund – Special Education Account# 10-1231-000-360-19-0-0-563)

SS-58-A

SS-59 THIS RESOLUTION WAS PULLED AT THE COMMITTEE OF THE WHOLE.

SS-60 THIS RESOLUTION WILL BE VOTED ON SEPARATELY.

SS-61 BE IT RESOLVED, That the Board of School Directors approves the attached 2011-2012 rates for programs and student services listed below between the Reading School District and the Berks County Intermediate Unit (BCIU) for services, as needed, by the Reading School District and/or the students' Individual Education Plan (IEP). (General Fund - Special Education Account# 10-1100-000-1-00-19-00-121)

- Early Intervention Program and Services
- Alternative Education and Emotional Support
- Special Education Program
- Innovation and Technology Services

SS-61-A

SS-62 BE IT RESOLVED, That the Board of School Directors approves summer pay for Special Education Teachers, Para Professionals, Physical and Occupational Therapists to plan, prepare, and implement the Reading School District Extended School Year Program (ESY), from June 27 2011 thru August 4, 2011, per students' Individualized Educational Program (IEP), at the contractual rate listed below. Special Education Teachers will prepare for the program on June 23, 2011. The total cost for the program will not exceed \$134,481.29. (ESY Teachers Account# 10-1222-000-1-00-19-00-121; 10-1211-000-1-00-19-00-121; 10-1233-000-1-00-19-00-121; 10-1221-000-3-00-19-00-121; 10-1211-000-3-00-19-00-121; 10-1233-890-1-00-19-00-121; 10-1241-000-3-00-19-00-121; Para's ACCESS Funding: Account#10-1233-890-1-00-19-00-191; ESY OT/PT Account # 10-1200-000-1-00-19-00-329)

Special Education Teachers, ESY Program, (Special Education – General Fund) June 24, 2011 thru August 4, 2011

Christine Hossler

25 hours - June

\$26.00

\$650.00

STUDENT SERVICES BOARD MEETING May 25, 2011

	105 hours - July/August	\$26.00	\$2,730.00
Leslie Esterly	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Gary Hoffman	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Carol McGowan	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Kristen Moyer	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Heather Shultz	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Constance (Madden)Smith	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Tanya Werley	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Amanda Greenly	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Karen Hertzog	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Linda Woleslagle	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Coleen Candelaria	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Colleen Dura	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Dana Puzio	25 hours - June	\$26.00	\$650.00
	105 hours - July August	\$26.00	\$2,730.00
Pam Reider	26 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Sabrina Leinbach	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Patti Lougherty	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Linda Woleslagel	25 hours - June	\$26.00	\$650.00
	105 hours - July/August	\$26.00	\$2,730.00
Shari Widlund	25 hours - June	\$26.00	\$650.00
	105 hours - July/ August	\$26.00	\$2,730.00
Virginia Houseman	25 hours- June	\$26.00	\$650.00

STUDENT SERVICES BOARD MEETING May 25, 2011

	105 hours-July/August	\$26.00	\$2,730.00
Joseph Schroeder	25 hours- June	\$26.00	\$650.00
	105 hours- July/August	\$26.00	\$2,730.00
Amber Boaman	25 hours-June	\$26.00	\$650.00
	105 hours-July/August	\$26.00	\$2,730.00
Cynthia Willard	12 hours-June	\$26.00	\$325.00
(nurse – M	1/W) 525 hours-July/August	\$26.00	\$1365.00
Melissa Barr	12 hours-June	\$26.00	\$325.00
(nurse)	Γ/Th 525 hours-July/August	\$26.00	\$1365.00
Sarah Berkley - SUB	0	0	0
Brynn Hollywood	0	0	0
Stephanie Lord - SUB	0	0	0
Kyla Ramsey - SUB	0	0	0
n n c i l nevn.	(C. : 1F1	1 F J\	
June 27, 2011 thru August 4,	gram, (Special Education - General	rai runu)	
Alyssa Perez	112.5 hours	\$11.00	\$1,237.50
Kristy Koegel	112.5 hours	\$11.00	\$1,237.50
Migdalia Candelaria	112.5 hours	\$11.05	\$1,243.13
Jennifer Brossman	112.5 hours	\$11.00	\$1,237.50
Dorisa Cooper	112.5 hours	\$11.00	\$1,237.50
Renee Kirkland-Hinton	112.5 hours	\$11.00	\$1,158.75
Janet Cooper	112.5 hours	\$14.24	\$1,602.00
Laura Stamm	112.5 hours	\$9.36	\$1,053.00
Amy Sindurski	112.5 hours	\$12.95	\$1,456.88
Sylvia Cruz	112.5 hours	\$11.65	\$1,310.63
Diane Stewart	112.5 hours	\$14.25	\$1,603.13
Joan Kellenberger	112.5 hours	\$12.85	\$1,445.63
Pedro Fontanez	112.5 hours	\$11.50	\$1,293.75
Plashette Jones	112.5 hours	\$11.00	\$1,237.50
Tyler Rankin	112.5 hours	\$11.10	\$1,248.75
Elke Fisher	112.5 hours	\$11.00	\$1,237.50
Mary Tripoliti	112.5 hours	\$11.00	\$1,237.50
Lizette Rondon	112.5 hours	\$11.00	\$1,237.50
Mary Ann Goheen	112.5 hours	\$11.55	\$1,299.38
Ky Delinko	112.5 hours	\$11.00	\$1,237.50
Luz Gonzalez	112.5 hours	\$11.65	\$1,310.63
Courtney Hurley	112.5 hours	\$11.05	\$1,243.13

	Donna Roup	112.5 hours	\$13.00	\$1,462.50
	Stephanie Kramer	112.5 hours	\$11.00	\$1,237.50
	Ann LaFata	112.5 hours	\$11.00	\$1,237.50
	Sondria Merriweather	112.5 hours	\$11.00	\$1,237.50
	Therea Iezzi	112.5 hours	\$11.00	\$1,237.50
	Sandra Koppenhofer	112.5 hours	\$11.00	\$1,237.50
	Amanda Kurowski	112.5 hours	\$11.00	\$1,237.50
	Joanna Nunez	112.5 hours	\$11.50	\$1,293.75
	Jill Willman	112.5 hours	\$9.80	\$1,102.50
	Minnie McCullough	112.5 hours	\$13.45	\$1,513.12
	Elizabeth Spengler	112.5 hours	\$17.80	\$2,002.50
	Lynn Haubrich	112.5 hours	\$13.65	\$1,535.63
	Sarah Benitz (SUB)	0	0	0
	Occupational Therapists (OT) I			
	June 27, 2011 thru August 4, 201			
	Jamie Chmielewski	60 hours	\$67.00	\$4,020.00
	Stacy Cuddleback	60 hours	\$67.00	\$4,020.00
	Physical Therapist (PT), ESY Pr	rogram (ACCESS Fund)		
	June 27, 2011 thru August 4, 201			
	Lisa Bogacki	30 hours	\$67.00	\$2,010.00
	Elsa Bogacki	oo nours	ψ07.00	φ2,010.00
	Speech Therapist SLP			
	June 27, 2011 thru August 4, 201	1		
	Bonnie Schnabel	25 hours – June	\$26.00	\$650.00
		50 hours – July/August	\$26.00	\$1,300.00
c	C 42 RE IT DECOLVED '	That the Board of School Directors	annrouse nave	ant for a

SS-63 BE IT RESOLVED, That the Board of School Directors approves payment for a Health Assistant to coordinate paperwork for enrollments and the *Vaccines for Children Program* in the Health Services Department for the 2010-2011 year from June 16 – June 30, 2011 at the contractual hourly wage listed below. Cost not to exceed \$220.00. (General Fund - Health Services Account# 10-2440-000-0-00-50-0-122)

Josefina Rodriguez	20 hours	11.00	\$220.00
--------------------	----------	-------	----------

SS-64 BE IT RESOLVED, That the Board of School Directors approves payment for Certified School nurses to assist with enrollment at the Reading Opportunity Center for Children or home schools, immunization administration, record management, follow-up regarding referrals of mandated screening, immunizations and physicals, referrals for 504

Service Agreements and medical components for Individual Education Plans for the 2011-2012 school year from June 16 through June 30, 2011 at the contractual rate listed below. Cost not to exceed \$3,640.00 (General Fund-Health Services Account# 10-2440-000-0-00-50-0-0-122)

Mary Jo Auman	10 hours	\$26.00	\$260.00
Melissa Barr	10 hours	\$26.00	\$260.00
Kathryn Behm	10 hours	\$26.00	\$260.00
Denise Bononno	5 hours	\$26.00	\$130.00
Veronica Cafarello-Furey	10 hours	\$26.00	\$260.00
Barbara Filer	10 hours	\$26.00	\$260.00
Deborah Foley	10 hours	\$26.00	\$260.00
Barbara Freiwald	10 hours	\$26.00	\$260.00
Jan Jackson	10 hours	\$26.00	\$260.00
Eileen Klang	10 hours	\$26.00	\$260.00
Ann Martino	10 hours	\$26.00	\$260.00
Tracy Ravert	10 hours	\$26.00	\$260.00
Lauren Reagan	10 hours	\$26.00	\$260.00
Tina Schmeck	5 hours	\$26.00	\$130.00
Cynthia Willard	10 hours	\$26.00	\$260.00

SS-65 BE IT RESOLVED, That the Board of School Directors approves payment for School Counselors of Reading High School and the Intermediate High School to review, evaluate, process their caseload for referrals and schedule summer school, at the contractual rate listed below, cost not to exceed \$4,680.00 (General Fund Account# 10-2126-000-3-81-46-00-121)

Reading High School and Intermediate School Counselors
June 2011 – review report cards, process referrals for evaluation, and schedule for
summer school.

Diane Spignesi-Dillman	15 hours	\$26.00	\$390.00
Ginger Johnson	15 hours	\$26.00	\$390.00
John Duggan	15 hours	\$26.00	\$390.00
Judith Flores	15 hours	\$26.00	\$390.00
Judith Frantz	15 hours	\$26.00	\$390.00
Kathleen Creelman	15 hours	\$26.00	\$390.00
Kathryn Moser	15 hours	\$26.00	\$390.00
Lisa Moynihan	15 hours	\$26.00	\$390.00
Monica Lacey	15 hours	\$26.00	\$390.00
Gary Maga	15 hours	\$26.00	\$390.00
Kim Wagner	15 hours	\$26.00	\$390.00
Mark Greaves	15 hours	\$26.00	\$390.00

SS-66 BE IT RESOLVED, That the Board of School Directors approves payment for scheduling team members to work on the master schedule and make adjustments, at the contractual rate listed below, not to exceed \$780.00. (General Fund Account# 10-2126-000-3-81-46-00-121)

Reading High School and Intermediate School Counselors June, 2011

Jennifer Oakes	15 hours	\$26.00	\$390.00
Kathryn Moser	15 hours	\$26.00	\$390.00

SS-67 BE IT RESOLVED, That the Board of School Directors approves buses to provide transportation for the Extended School Year (ESY), including all grade levels, to be held at Northwest Elementary School, June 27, 2011 thru August 4, 2011, per students' Individualized Education Plan (IEP). Total cost not to exceed \$25,000.00. (Special Education Fund Account # 10-1100-000-1-00-19-00-516)

SS-68 BE IT RESOLVED, That the Board of School Directors approves Summer pay for PBIS Teams to meet on continued program development and implementation in their school for the 2011-2012 school year at a cost not to exceed Fourteen Thousand Eight Hundred Dollars (\$14,820.00). Work to be completed by June 24, 2011. (2010-2011 PA-PACT Fund Account# 10-2271-221-3-73-00-86-123)

Thomas Ford Elementary	School		
June Rudy	15 hours	\$26.00	\$390.00
Linda Woleslagle	15 hours	\$26.00	\$390.00
Joanne Miller	15 hours	\$26.00	\$390.00
John Schroeder	15 hours	\$26.00	\$390.00
Denise Lessig	15 hours	\$26.00	\$390.00
Sarah Stutzman	15 hours	\$26.00	\$390.00
Tyson-Schoener			
Robin Scarpaci	15 hours	\$26.00	\$390.00
April Groft	15 hours	\$26.00	\$390.00
Joann Lightman	15 hours	\$26.00	\$390.00
Grace Weber	15 hours	\$26.00	\$390.00
Ana Morales	15 hours	\$26.00	\$390.00
Southwest Middle School	ol		
Anne Pletcher	15 hours	\$26.00	\$390.00
Jill Figner	15 hours	\$26.00	\$390.00
Jessica DiLuzio	15 hours	\$26.00	\$390.00
Michael Preletz	15 hours	\$26.00	\$390.00

STUDENT SERVICES BOARD MEETING May 25, 2011

Southern Middle School			
Courtney Barth	15 hours	\$26.00	\$390.00
Abdul Ghani	15 hours	\$26.00	\$390.00
Catherine Schultz	15 hours	\$26.00	\$390.00
Christopher Meyer	15 hours	\$26.00	\$390.00
Robert Mazzo	15 hours	\$26.00	\$390.00
Nancy Swope	15 hours	\$26.00	\$390.00
Lacey Smey	15 hours	\$26.00	\$390.00
Kathryn Gallagher	15 hours	\$26.00	\$390.00
Northeast Middle Schoo			
Jacqueline Guerrero	15 hours	\$26.00	\$390.00
Minerva Cruz	15 hours	\$26.00	\$390.00
Kelley Daye-Barton	15 hours	\$26.00	\$390.00
Northwest Middle School		#0/ 00	#200 00
Robinette Armstrong	15 hours	\$26.00	\$390.00
Leanne Zettlemoyer	15 hours	\$26.00	\$390.00
Chris Becker	15 hours	\$26.00	\$390.00
Megan Faust	15 hours	\$26.00	\$390.00
Reading High School			
Eric Knorr	15 hours	\$26.00	\$390.00
Zack Duncan	15 hours	\$26.00	\$390.00
Heidi Piece	15 hours	\$26.00	\$390.00
Jeanne Gochnauer	15 hours	\$26.00	\$390.00
Reading Intermediate H	igh School		
Kim Wagner	15 hours	\$26.00	\$390.00
Kelly Rupp	15 hours	\$26.00	\$390.00
Leslie Helf	15 hours	\$26.00	\$390.00
Liz Miller	15 hours	\$26.00	\$390.00

Respectfully Submitted,

Karen McCree Committee Chairperson To the President and Members of the Board of School Directors:

Your Committee on Student Services recommends the adoption of the following resolutions:

SS-60 BE IT RESOLVED, That the Board of School Directors authorizes the Reading School District to pay Ten Thousand Dollars (\$10,000.00) to McAndrews Law Firm for payment of attorney fees, within thirty (30) days of parties' full execution of this Agreement for student, ID# 303938. The Reading School District also agrees to reimburse the parent of said student, ID# 303938, for tuition paid at Montessori Country Day School for the remainder of the 2010-11 school year, all of the 2011-12 school year, all of the 2012-13 school, and the first two quarters of the 2013-14 school year. The Reading School District will reimburse the parent only upon receipt of substantiating documentation that the parent paid such costs in the form of a canceled check or credit card statement.

SS-60-A

COMMUNICATIONS AND POLICY BOARD MEETING MAY 25, 2011

To the Members of the Board of School Directors:

Your Committee on Community Relations and Policy recommends the adoption of the following resolutions:

CRP-11 BE IT RESOLVED, That the Board of School Directors authorizes the payment for membership dues for Pennsylvania School Boards Association, Inc. (PSBA), in the amount of \$11,223.91, for the period of July 1, 2011 through June 30, 2012.

CRP-11-A

Respectfully Submitted,

Isamac Torres-Figueroa Committee Chairperson To the President and Members of the Board of School Directors:

Your Committee on Extracurricular Activities recommends the adoption of the following resolutions:

EX - 20 BE IT RESOLVED, That the Board of School Directors approves the payment of winter concession profit. Fund raising groups will receive 65% of the profit, Athletic Department 35% of the profit. Net Profit = \$11,065.62

Band	\$ 248.02
Boys Basketball	\$ 248.02
Cross Country	\$ 744.07
Dance Team	\$ 992.09
Football	\$ 868.08
Girls Basketball	\$ 1,116.10
Girls Soccer	\$ 372.03
Softball	\$ 620.06
Swimming	\$ 620.06
Track	\$ 248.02
Volleyball	\$ 620.06
Wrestling	\$ 496.05

EX-21 BE IT RESOLVED, That Resolution 50 adopted by the Board of School Directors on September 22, 2010, listing individuals and compensation for the non-athletic extracurricular assignments for the 2010-2011 school year be amended as follows:

12th & Marion Student Council		
REMOVE	Tina Buchter	\$350.00
REMOVE	Christina Waller	\$350.00
12th & Marion Running Club		
CHANGE	Dawn Cuccaro	\$125.00
CHANGE	Sharon Majesky	\$200.00
12th & Marion PFO		
CHANGE	John Kaszmetskie	\$125.00
CHANGE	Jeanette Koehler	\$125.00
CHANGE	Krista Leaf	\$125.00
CHANGE	Jennifer Richards	\$125.00

EXTRACURRICULAR ACTIVITIES BOARD MEETING MAY 25, 2011

Northwest Area Elementary

ADD	Cathy Noone	\$50.00
ADD	Abby Steinmayer	\$150.00
REMOVE	Lisa Herbinko	\$50.00
REMOVE	Gina Bowers	\$150.00

Southern MS School Show Music Director

REMOVE Allison Bell \$400.00

EX - 22 BE IT RESOLVED, That Resolution 19 adopted by the Board of School Directors on April 20, 2011, listing individuals and compensation for the non-athletic extracurricular assignments for the 2010-2011 school year be amended as follows:

Southern MS School Show Director

ADD Audrey Ricardo \$1,000.00

Respectfully submitted,

James Washington Committee Chairperson To the Members of the Board of School Directors:

The following General resolutions are recommended for adoption:

GEN-34 WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Tuesday, April 19, 2011 at 12:15 P.M. at the recommendation of the school administration of a middle school student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student No. 303584 be expelled from the Reading School District until the start of the second marking period of the 2011-12 school year subject to however of being able to return at the start of the 2011-12 school year if Student continues with his exemplary attendance and academic performance at alternative education school until the end of the 2010-11 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-34-A

GEN-35-WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Tuesday, April 19, 2011 at 1:05 P.M. at the recommendation of the school administration of a middle school student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student No. 304382 be expelled from the Reading School District for the remainder of the 2010-11 school year and the first semester of the 2011-12 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-35-A

GEN-36 WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Tuesday, April 19, 2011 at 1:50 P.M. at the recommendation of the school administration of Reading Intermediate High School student; and

GENERAL RESOLUTIONS BOARD MEETING MAY 25, 2011

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student No. 101658 be expelled from the Reading School District for the remainder of the 2010-11 school year and the first semester of the 2011-12 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-36-A

GEN-37-A WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Tuesday, April 19, 2011 at 2:15 P.M. at the recommendation of the school administration of a Reading Intermediate High School student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student No. 300113 be expelled from the Reading School District for the remainder of the 2010-11 school year conditioned upon Student continuing his exemplary attendance and academics at Excel.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-37-A

GEN-38 WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Thursday, May 12, 2011 at 12:15 P.M. at the recommendation of the school administration of an Intermediate High School student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW, THEREFORE, be it Resolved that Student No. 108270 be expelled from the Reading School District for the remainder of the 2010-11 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-38-A

GENERAL RESOLUTIONS BOARD MEETING MAY 25, 2011

GEN-39 WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Thursday, May 12, 2011 at 12:55 P.M. at the recommendation of the school and administration of an Intermediate High School student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student No. 106074 be expelled from the Reading School District for the remainder of the 2010-11 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-39-A

GEN-40 WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Thursday, May 12, 2011 at 1:30 P.M. at the recommendation of the school administration of an Intermediate High School student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student No. 104007 be expelled from the Reading School District for the remainder of the 2010-11 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-40-A

GEN-41 WHEREAS, a Committee of the Board of Directors of the Reading School District held an expulsion hearing on Thursday, May 12, 2011 at 2:15 P.M. at the recommendation of the school administration of an Intermediate High School student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student No. 101435 be expelled from the Reading School District for the remainder of the 2010-11 school year.

GENERAL RESOLUTIONS BOARD MEETING MAY 25, 2011

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-41-A

GEN-42 BE IT RESOLVED, That the Board of School Directors approves the Proposal from Reading-Berks HR Management, to provide an audit/assessment of the Human Resources Department, at a cost not to exceed \$59,520.00. The solicitor has reviewed the proposal.

GEN-42-A